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r0 rate = 2.80% : rb 
Recove rate al ha = 60.40% 

1. Please note the coupon rate for the bond.
2. Please set the maturity as an integer (i.e., please round to zero decimal
3. Please set the rD from your VP1 analysis here, correcting for any rcqU<

Market rice of bond = $126.00 
re� D.,...__,, 4 �-e

4. Please set the recovery rate per the industry this firm belongs to.

# / OO 5. Please set the value equal to the market price of bond.
Vl!tf lA.l._ 6. Please open Goal Seek through "Dara" tab, what-if analysis,

c oCc,3 e,,1. cz.) 

Year Cash Flow CF (1-p)' 
1 $7.95 $7.54 
2 $7.95 $7.15 
3 $7.95 $6.78 
4 $7.95 $6.43 
5 $7.95 $6.10 
6 $7.95 $5.79 
7 $7.95 S5.49 
8 $7.95 $5.21 
9 $7.95 $4.94 
10 $7.95 $4.69 
11 $7.95 $4.44 
12 $7.95 $4.22 
13 $7.95 $4.00 
14 $7.95 $3.79 
15 $107.95 $48.84 
16 so.oo $0.00 
17 so.oo $0.00 
18 so.oo $0.00 
19 $0.00 so.oo 
20 S0.00 so.oo 
21 so.oo so.oo 
22 so.oo $0.00 
23 $0.00 so.oo 
24 $0.00 $0.00 
25 $0.00 $0.00 
26 $0.00 S0.00 
27 $0.00 S0.00 
28 $0.00 $0.00 
29 $0.00 S0.00 
30 so.oo $0.00 

V aluc of bond = 

Probability of distress (Annual) = 
Probability of distress over 5 years = 

Probability of distress over 10 years = 

-1:. 1� �b, 0 v' <2._

Col. ( �) 
Alpha CF p (1-p)'° 1

$3.36 
$3.18 
$3.02 
$2.87 
$2.72 
$2.58 
$2.44 
$2.32 
$2.20 
$2.09 
$1.98 
$1.88 
$1.78 
$1.69 
$1.60 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
so.oo 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 

5.15% 

23.23% 
41.06% 

ExuJ fork-f1-tf.:\ tJ 

,>"1 1  tr ""'--' �fr"",? x..,·Vl.f"t f.r·.,,_, 
uF -f: I� �<- � .. f -forwi "'I<. 

+o -fk v-1>t!.f- - ) 

1 F42 al 1.0 marker value of bond by changing D44. p case set ·. cqu 

Present Value 
$10.60 
$9.78 
$9.03 
$8.33 
$7.68 
$7.09 
$6.54 
$6.04 
$5.57 
$5.14 
$4.74 
$4.37 
$4.04 
$3.72 

$33.34 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
S0.00 
S0.00 
$0.00 
$0.00 
$0.00 
$0.00 
$0.00 
S0.00 

$126.00 
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Example of Calculating the Probability of Financial Distress Using the Default Probability Calculator, Tesla Bond, Date: 8/12/2021
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Estimating the costs of financial distress (CFD) 
r------< 

infinit 

NPV[CFD]= L,::-��.::::::..:t---Lr_-_�_'-4------i=-.:::..:::.�L 
t = l 

=pxLGDxV
F

ro + p- g 

Estimating the tax shields (TS) 

Estimating the probability of defaclt (p) 

D= :t (1- p)' rp
D+ p(l- p):-i a(l+rp)D

t=I (1 + r 0) 

➔

D = rp 
xDx(l- p)+ pxax(l+r

p 
)xD

ro+P 

r
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Make-up Quiz #6 (Week #6) for FIN 5372

✓ Question # 1 (0.5 pts)
Which of the following is not an indirect cost of financial distress?

-A. Management distraction and difficulties in running the business due to engagements in
managing corporate liabilities restructuring during bankruptcy

B. Loss of customers and suppliers
C. Conflicts between shareholders and bondholders
D. Court fees associated with administrative bankruptcy procedures

j Question # 2 (1 pts)
In the example of risk-shifting from slide set "Costs of Financial Distress: Risk-Shifting", which
project will be preferred by the equity holders if the probability of the good state is 10% and the
probability of the bad state is�? -

�.&��B
B. ProjectA
C. Project C

✓ Question # 3 (0.5 pts)
The probability of financial distress can be estimated as the ratio of the expected benefit and
expected cost of holding risky debt. • f /.C.. } b � f''...1

A T ;.Lt• -sY>l'· •r.<f<?.-1.. ,.., 
�P- ro 

e,,,c;. -r,-c . rue
..,,,,v •� � 

p _ B. False r: � r. ? , F - ____ .J..p p p } (OfC
✓ Question #4 (0.5 pts) 4 <AP�::: r,=. + /)1> MR ( ,-o<) (t+rp) 

The manager of the bankrupt firm (also known as the "debtor-in-possession") has exclusivity in
drafting reorganization plan first 120 days in Chapter 7 bankruptcy.
/ A. False -

B. True
f Question #5 (1 pts)

In the example of a poison pill effect from slide set "Common Takeover Tactics: Poison Pills, Pre­
and Post-Offer Takeover Defenses", what will be the percent of ownership in the target stock by
the acquiring firm after the trigger of the poison pill, if the poison pill provisions enable each target
shareholder to buy three shares of target stock at a nominal price for each share they own?

A. 40% 

B. 33%

C. 25%
..I D. 20%

/ Question #6 (0.5 pts) 
A bear hug is an offer made by one company to buy the shares of another for a much higher per-
share price. than what that company is worth in the market. -

A. True
B. False




